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22T|3E 1,000{109/10/20 |4+ & PR7% % & sdees (8 |- 48 =
22855 & ¥ 1,000{109/10/20 |4+ & PR7% % & sdees (8 |- 48 =
229|355 1,000{109/10/20 |4+ & PR7% % & sdees (8 |- 48 =
230[3E & 4 1,000{109/10/20 |4+ & PR7% % & srdees (8 |- 48 =
231|388 % 1,000{109/10/20 |4+ & PR7% % Esdees (8 |- 48 =
232|mur s 500{109/10/20 |4+ § PRAX® Aipfees |8 |- %% =
233|% A 500{109/10/20 [A* § PRAX 2 Apfees |8 |- %% =
234["r+ 4% 500{109/10/20 |4+ § PRAX 2 A¥pfees |8 |- &% =
235tk - ™ 500{109/10/20 |4+ § PRAX 2 Aipfees |8 |- &&=
236[m & % 500{109/10/20 |4+ § PRAX 2 Lipfees |8 |- &% =
237|m 4 & 500{109/10/20 |4+ § PRAX® Aipfees |8 |- &% =
238|5% % & 500{109/10/20 |4+ § PRAX® Aipfees |8 |- %% =
239[ 2 4 2 500{109/10/20 |4+ § PRAX 2 Aipfees |8 |- &% =
240|434 A« 500{109/10/20 |4+ § PRAX 2 Ldpfees |8 |- &% =
241[5E > ¥ 500[109/10/20 |4+ § PRA% % &spdces |8 |- &% =
242|225 500[109/10/20 |4+ § PRA% % &spdces |8 |- & & =
243|% 3 ¢ 500[109/10/20 |4+ § PRA% % &spdces |8 |- &% =
244|457 % 3,000/109/10/20 |4+ ¢ PRA% 2 Eipfees |8 |- &%~
25|13 £ 3,000/109/10/20 |4+ ¢ PRA% 2 Eipfees |8 |- &%~
246(% P # 3,0001109/10/20 |4+ & PRi% % A¥pdres & |- &% =
247|% & K 3,000/109/10/20 |4+ ¢ PRA% 2 Lipfees |8 |- &%~
248[% i & 3,0001109/10/20 |4+ & PRi% % A¥pdres |[§ |- &% =
2491 & % 3,000[109/10/20 |4 ¢ PRAx % Aspgees £ |- & & »
250[1h 7 & 10,000{109/10/20 |4+ & PRI% % A¥pdces |8 |- &% =
251w % % 500[109/10/20 |4+ § PRA%:% &irdces (B |- &% 2
252|554 ¢ 1001109/10/20 |3+ ¢ JR3% 3 Hspgees |[£ |- &% =
253[ 4 iR 100]109/10/20 |4+ § PRA% 2 Hapfens | B |- &% =
254[5 % 4 100]109/10/20 |4+ § PRA% 2 Hapfens | B |- &% =
2555 i 414> 100]109/10/20 |4+ § PRA% 2 Hapfens | R |- &% =
256| #r i 2 2,000{109/10/21 |+ & PRA% % Aipfeet |[§ |- & =
257|2 k4 500[109/10/21 |4+ § PRA%:% &Hirdees (B |- 4% =2
25838 A fr 1,000{109/10/21 |4+ ¢ PR % Eipgees |8 |- &8 =
259(% 7 % 300[109/10/21 |4+ § PRA%:% &Hirdees (B |- 4% 2
260[3% # 3% 1,500{109/10/21 |4+ ¢ PRA%: % Espgees |8 |- &8 =
261[3% = fr 1,500{109/10/21 |4+ ¢ PRA%: % Eipgees |8 |- &8 =
2622 % & 1,500{109/10/21 |4+ ¢ PR Espgees |8 |- &&=
263|378 L 7% 1,500{109/10/21 |4+ ¢ PR#%x* Espgees (8 |- &8 =
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264|775 § 2,000{109/10/21 |3+ & PRi% % & gfees |[£ |- &b =
265| iw Fo ¥ 1,000{109/10/21 |4+  PRix % Lipseres (8 |- 5 d =
266|384 ~ 5,000{109/10/21 |4+ & PR 2 &¥ders |£ |- ixd =
2067|5447 1,000{109/10/21 |4+ ¢ PRA*2 Lipgres (8 |- 88 =
268| a8 & 5, 000{109/10/21 |+ & PRi% % Aipdfres & |- &% =
269|% 2% % 750[109/10/21 |4+ § PRix 2 Ldpsers [ |2 % d 2
27013 K 2 5001109/10/21 |4+ § PRFx % Aspgees [£ |Egd 2
271 % % & 750|109/10/21 |A- ¢ pRix % Lipdees (£ B
272| tk 734 1,000[109/10/21 |4t § PRA% 2 E¥pdees B |[HkE =
27377 5. 4 300]109/10/22 |4+ ¢ PRFx 2 Apgers (£ |- 4 & @
274|148 & 700]109/10/22 |4+ § PRF % Aspgees [£ |- 4 d 2
275\ % 4 6501109/10/22 |4 § FRA% % A et | B |- 4k b 2
276| 14 B 6501109/10/22 |4 § FRA% % Apdees | B |- 4k b 2
277 % i {14 e » 5, 362|109/10/22 |4 & PRix % Aspdees [£ |- 4 d =
278 T ix {1 & Jx » 1,463]109/10/22 |4+ & PRAx2 Lipers | £ |- 48 2
279] % i {14 e » 1,706/109/10/22 |4 § PRAx 2 E¥pfees |8 |- &% =
280| 3 5k ik 5001109/10/22 |4 § FRA% % Apdees |[£ |- 4k b 2
281 % 4 200]109/10/22 |4+ § PRFx % Apgees [£ |- 48 2
282| % &g, 5001109/10/22 |4 § FR4x % Apdees |[£ |- 4 b @
283| % # 4 5001109/10/22 |4 § FRA% % Apdees |[£ |- 4k b 2
284|5 it g 5001109/10/22 |4 § FRA% % A et |[£ |- 4 b @
285| 5 iR 45, 100{109/10/22 4+ § PRi3 % & gpfres |£ |- &b =
286| % 4 100{109/10/22 4+ ¢ PRi3 % & gpfres |8 |- &b =
2874k % 7 100{109/10/22 4+ ¢ PRi3 % & gpfres |£ |- &b =
288| ks 100{109/10/22 |4+ ¢ PRi3 % & gpfres |8 |- &b =
289| s 8% & 500|109/10/22 |4 § PRF % Aspgers [£ |- 4 d 2
290|F# T e 500|109/10/22 |4 § P52 Aspgers [£ |- 4 d 2
291 [ &7 500|109/10/22 |4 § P52 Aspgers [£ |- 4 d 2
292| % % & 500|109/10/22 |4 § PRF % Aspgers [£ |- 4 d 2
293 3 27, 500[109/10/22 |4+ § FRi% % L¥psees (£ |- 4% =
294|3% & £ 10,000{109/10/22 |4+ & PR 2 Eapfees [£ |- 42 =
295 3% ¥ 100{109/10/22 4+ & PRF% 2 & dffers |£ |- &g =
296tk % 2 100{109/10/22 4+ & PRI% % & spgees |& |- &b =
297 & i 500]109/10/22 |4+ § PRFx % Aspgees [£ |- 4 s 2
298|m fx & 500]109/10/22 |4+ ¢ PRAx 2 Aipgers (£ |- 4 & @
299| Flie 88 2001109/10/22 |4+ § PRI % Aspgers | £ |- &b 2
300| x4 200|109/10/22 |4+ § PRF % Aspgers [£ |- 4 & 2
301) % e e 200]109/10/22 |4+ ¢ PRAx 2 Aipgers (£ |- 4 & @
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302[ 5145 e 200[109/10/22 |4+ § PR 2 Ldpsers [ |- &g 2
303| Rt iF 200[109/10/22 |4- § PRA% % ¥t [ |- &g
304[3r 2 » 500{109/10/22 4 § PRix 2 E¥pfers | £ |- 4% =
305[4 k& & 500[109/10/22 |4- § FPRA% % Lot (£ |[FAF S 2
306|F %5 ¥ 50,000(109/10/23 |4 € PRFx 2 Eapfers | £ |- &% =
e 3,000{109/10/23 |4 & PRix % A¥pdees [£ |- 4 d =
308[® 17 % 300{109/10/23 |4 § PRAx 2 E¥pfers | £ |- 4% =
309[% % % 300{109/10/23 |4 § PRix 2 E¥pfers | £ |- 4% =
310[% 2 % 1,000{109/10/23 |4t § PR 2 & ifsces [E |- ixd
311[% % - 5,000/109/10/23 |4 ¢ pRix 2 Aspfess | (g% %~
SV ESLY & 1,000{109/10/27 |4t § PRAx 2 & ipsces [E |- ixd
313 iFie 1,000[109/10/27 |4 € PRI+ 2 L¥psces | B |- &% 2
314[m sk 7 1,200{109/10/27 |4t § PRA* 2 & ipsces [E |- ixd 2
31558 i 5% 2,500{109/10/27 |4 & PRAx % A¥pdees [£ |- & d =
316 & = 215/109/10/27 |4+ € PRI+ % Ldpfers | £ |- 42 2
SLT) 4k * 4 100{109/10/27 |4 & pRFx % A ipgcrs |E_ - i g
318[m & % 100)109/10/27 |4 & JRi% % Ldpdees |£ |- b =
319[ 73 & 100)109/10/27 |4 & JR4% % Ldpdees |£ |- b =
320[ % F = 100)109/10/27 |4 & JRi% % Ldpdees |£ |- b =
321|m R & 100)109/10/27 |4x & JRi% % Ldpdees |£ |- b =
322[m & % 100)109/10/27 |4 & JR4% % Ldpdees |£ |- b =
323| = & £ 100)109/10/27 |4 & JR4% % Ldpdees |£ |- b =
324|m % v 100)109/10/27 |4 & JRi% % Ldpdees |£ |- i =
325|F% ik 100[109/10/27 [+ ¢ PRix % gt |8 |- & & »
326| % % 3% 100{109/10/27 |4+ € PRAx % Lopsers |E |- 48 =
32T 5= ® 47 100)1109/10/27 |4+ & pRA% % Lipdgces | £ |- 48 =
328| & % = 615[109/10/27 A € PRAx 2 Edpfeet | B |- 42 =
329|45 # ¥ 500[109/10/27 [4- § PRA% % &¥psees [ |- ixd 2
330[ g3 2,500{109/10/27 |4 & PRix 2 Aspfees |£ |s %% =
331[E Pk 1,000{109/10/27 |4t § PRz 2 Lifsees [ [ %% 2
332[ %% & 7 2,500{109/10/27 |4 & PRix 2 Aspdees |E |Mge =
333|% & ~ 300{109/10/27 4 ¢ PRAx 2 &gt | |[Mms =
334[dm3 & 2,500/109/10/27 |4+ € PRA% % Lipdces | £ [ G PRAE
335 o % 10,000{109/10/28 |4+ & PRis % Epfers [£ |- 4% =
336[2 2 4 500[109/10/28 |4 § PRix 2 & ¥fsees [ |- ixd 2
337 m A% 500[109/10/28 |4+ § PRA: 2 & isees (8 |- i g 2
338[m £ ¢ 500[109/10/28 |4 § PRix 2 & ¥fsees [ |- ixd 2
33934 i £ 500[109/10/28 |4 § PRix 2 &¥psees [£ |- i d 2
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340147 i #i 500{109/10/28 |4t § PEFs 2 Ldpfers (B |- &% =
34113 & & 500{109/10/28 |4+ ¢ FRir = Eipsess (£ [- i =
342| 3 4R 500{109/10/28 |4+ ¢ Rix = Lipsess (£ [~ i =
343| 3 4= 1,000[109/10/28 |4+ ¢ PRis 2 Lipfers [ |- 42 =
344 ¢ = 515(109/10/28 [4+ & PRi% 2 &dpderes |8 |- 4xd 2
345|3 & & 500{109/10/28 |4+ ¢ FRix = Lipsess (£ [ i =
34657 5. 4 300[109/10/28 [4+ ¢ rrir 2 Aspgers (8 |- i 2
37| 3 & & 400[109/10/28 |- & PRk 2 &ipdeet (£ [- 428 =
348| % 5 {1 4 e » 5, 851[109/10/28 |4+ & R4 % Adfres |8 |- xd =
349| % 2 97 500{109/10/28 [A: § PRA* 2 Lipfers [E WK d =
350|F 2 44 J 10,000/109/10/29 |4+ § PRA%:2 Hipfees (£ |- 4% =
351[m % & 2,000[109/10/29 |4+ & PRt 2 Lapees |£ |- 4d =
392[t4= B 1,000{109/10/29 |4+ & PRA% %2 Expgeres [ |- 42 =
353[tk % 3 1,000[109/10/29 |4+ § prix % & spgeres (£ |- 4 2
354[ i 4 500[109/10/29 [4+ ¢ pRi% 2 Aapderes [ |- 4 2
300|BF % % 3,000[109/10/29 |4+ & PRas % Apfres |8 |- 4 d =
356/ £ & A 2,500[109/10/29 |4+ & PRi% % & spsees |8 |- 4% =
BT[EZ T 1,000[109/10/29 |4+ § pRix % & spgers (£ |- 48 2
308 5 & 500{109/10/29 |4+ § PRI% 3 Lipdees |8 |- 4% =
359| ik 47 f 500]109/10/29 |4 & pRis 2 &ipgens |2 |- s g =
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360 fi;i;;f | 1.000[109/10/20 s g prabx Asprees |2 |- ek
361| ¥ 4 2,000{109/10/29 |4+ & R4 % Adfres |8 (% %%~
362[ix 7 § 2,500[109/10/29 |4+ & PR7x 2 A difees |8 [ i o




